[[normalized x? probability ]

: [Enties
+_ | Mean
Std Dev

Entries
.| mean
Std Dev

Entries
Mean
- LLstd Dev

Entries,
Mean

A
U

ST A :\ Ak
T 1 | H,
0. .
0 2 4 6 8 10 12 14 16 18 20 0.10.20304050 7 0.80.
2 Prob(xz)
—— nalvector_Toooevr
e DOM evt
— DOMfitted:
—— DQMfit cpe‘OK 560
. DOM cpeOK_SORTRZZ 1000evt
= DOM_fit_cpeOK_SORTRZ2_TESTOUTLIER3_1000evt
A2 —~  5p
e S
e} =
< A
= -
\% ;_"
o
\

18

Ratio
Ratio

_____ T

Jii

0 1 2 3
n TP n (PCA to beamline)

< Xx2/ndf>
< x2/ndf>

Ratio
Ratio

10°° 1072

-1
AR(track, jeg’[s)

T

< op/p. > (%)

Ratio

107 1 10




	Contents
	Page 1


